r - ot seeing the part you are looking for?
. Te kt I te JD 2032/2025/2(%’2’(%%3)%2)/2720 Steel TOp EmliiItpartséftikﬁfe.;ayfor more inforgmation.

ROPS Cab Manufacturing

Service Part # Description Service Part # Description
104-0024 3" short Front Windshield Glass $422.00 A00-0001 Quter Push Button Handle 266.00
‘ A00-0002 Left Interior Door Latch $56.67
J04-0026 3" short Rear Window Glass $417.53 A00-0003 Right Interior Door Latch $56.67
J04-0028 3" short Door Glass $417.53 A00-0013 5MM Bushing $1.33
104-0027 3" short Side Window Glass $455.67 A00-0014 8MM Bushing 51.47
A00-0018 Step Bolt, 1/4" x 1 1/2", MB $1.33
J04-0025 3" short Lower Front Glass $146.67 .
A00-0019 Step Bolt, 1/4" x 1", MB $1.33
J04-0013 Windshield Glass Soft Side $410.33 A00-0020 Step BO|t, 1/4" x 1 1/4"' MB 51_33
Weatherstripping A00-0021 Flange Nut, 1/4", MB $0.67
104-0048 3" Short Front Windshield WeatherStripping | $44.00 A00-0039 Door Hinge Weldment, Left Upper $36.67
4 3" short Rear Window Weath o X A00-0040 Cab Door Grab Handle $66.00
104-0033 short Rear Window Weatherstripping 251.33 A00-0042 Door Hinge Weldment, Right Upper $36.67
J04-0031 3" short Door Weatherstripping $58.67 A00-0044 Left Side Window Hinge Weldment $20.67
J04-0032 3" short Side Window Weatherstripping $44.00 A00-0046 Right Side Window Hinge Weldment $20.67
A00-0065 On-off Rocker Switch $35.33
Frames

A00-0084 Gas Shock, Standard $36.67
J04-0029 3" short Left Door Frame Weldment $381.00 A00-0085 Ball Stud for shock with 5/16" flange nut $2.67
J04-0030 3" short Right Door Frame Weldment $381.00 A00-0129 Keys (Pair) $7.33
Full Assembly's A00-0131 Exterior Fuel Cap $51.33
A00-0141 Exterior Mirror, Round, 6", Single 55.67

J04-0054 3" short Complete Left Door Assembly $937.53 xeeror d ne 2
A00-0228 Door Hinge Weldment, Left Lower $32.33
J04-0060 3" Short Complete Right Door Assembly $937.53 A00-0229 Door Hinge Weldment, Right Lower $32.33
A00-0289 Grab Handle Endcap, Black Plastic $13.00

Note: To ensure the correct parts, it is advised you provide your serial number from your cab before ordering.

Tektite Manufacturing Inc. wnicn Cah?

Box 639, 427 Buffalo Street r
Ahe cab?

Winkler MB R6W 4A8 Canada
P 204-331-3463 / F 204-331-4159

www.tektite.ca




